

Course Prices Per Student

Trial lesson: FREE!

General English Courses

There are two parts/courses per language level.

Course Level	Part/Course number	Number of lessons in part/course	Pay for one lesson at a time (PAYG)	Cost of each course	DISCOUNTS - Pay for one course at a time (10% off)	FURTHER DISCOUNTS – book and pay for two or more courses in advance – receive
Beginner	1	10	£20	£200	£180	an extra 10% discount.
Degimei	1					an extra 10% discount.
	2	10	£20	£200	£180	
Pre-	1	13	£20	£260	£234	
Intermediate	2	8	£20	£160	£144	
Upper-	1	14	£20	£280	£252	
Intermediate	2	13	£20	£260	£234	
Advanced	1	13	£20	£260	£234	
	2	12	£20	£240	£216	
Super-	NA	Bespoke (8	£20	Bespoke	Bespoke - 10% off for	
Advanced		minimum)			each lesson after the 8 th	
(see below)					lesson.	

Mixed levels	NA	Bespoke (8	£20	Bespoke	Bespoke - 10% off for	NA
(see below)		minimum)			each lesson after the 8 th	
					lesson.	

Super-Advanced General English Course – for students who are fluent but who need extra tuition in certain areas, such as grammar. This course consists of lessons taken from the traditional courses according to what skills the learner needs help with.

Mixed levels General English Course – for students who are not super-advanced nor fluent but whose skills follow a spikey profile. E.g. great at some upper-intermediate level skills but terrible at some beginner level skills. This course also consists of lessons taken from the traditional courses according to what skills the learner needs help with however.

Note:

- One revision lesson is included in each course.
- One end of course test is included as a lesson in each course.
- One test answers lesson is included in each course (this means going through the result of the test).

Additional Prices

Service	Price
Pre-course test (compulsory for every level)	£10
End of course re-sit tests.	£20 per re-sit test
(voluntary. However, if you do not pass the end	
of course test and you want to progress to the	
next level then you will need to re-sit the test.	
You can re-sit as many times as you like.)	
Extra revision lessons (optional)	£20 per lesson

Super-Advanced and Mixed Level Courses

Number of lessons	Pay for one lesson at a time (PAYG)	Cost of each course	Discounts
Bespoke (8 minimum)	£20	Bespoke	Bespoke - 10% off for each lesson after the 8 th lesson.
1	£20	£20	NA
2	£20	£40	£36
3	£20	£60	£54
4	£20	£80	£72
5	£20	£100	£90
6	£20	£120	£108
7	£20	£140	£126
8	£20	£160	£144
9	£20	£180	£162
10	£20	£200	£180
11	£20	£220	£198
12	£20	£240	£216
13	£20	£260	£234
14	£20	£280	£252

Professional English Course

Lesson	Lesson Title	Pay for one lesson at a time	Cumulative price when	DISCOUNTS - Pay for more
Number		(PAYG)	paying per lesson	than one lesson at a time
				(10% off)
1	Professional language awareness	£20	£20	NA
2	How to write a CV	£20	£40	£36
3	How to write a cover letter	£20	£60	£54
4	How to apply for a job	£20	08 2	£72
5	How to prepare for an interview	£20	£100	£90
6	How to write a professional email	£20	£120	£108
7	How to make a presentation	£20	£140	£126
8	Reflective and critical writing	£20	£160	£144
9	How to write a reflective essay	£20	£180	£162
10	Referencing	£20	£200	£180
11	Entrepreneurship	£20	£220	£198
12	Overview	£20	£240	£216
13	Test	£20	£260	£234
14	Test answers	£20	£280	£252
		£280		

Selecting Specific Lessons instead of doing the whole course – if you pay for the number of lessons you would like to take, up front, you pay the discounted price for the *number of lessons you have selected*. If you pay as you go, you pay £20 per lesson.

Note:

- One revision lesson is included in each course.
- One end of course test is included as a lesson in each course.
- One test answers lesson is included in each course (this means going through the result of the test).

Additional Prices

Service	Price
Extra revision lessons (optional)	£20 per lesson

End of course re-sit tests	£20 per re-sit test
----------------------------	---------------------

End of Course Certificates

Every student is provided with a certificate if and when:

- 1. They complete a whole course (regardless of how they paid for it PAYG or per course).
- 2. They pass a course test.

All certificates are free of charge and will be emailed to the student when they have passed the end of course test.

Certificates are *not* provided to students who:

- 1. Do not complete a whole course.
- 2. Do not pass a course test.
- 3. Select specific lessons rather than doing a whole course (applicable to the Professional English Course only).